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1. Jawaharlal spent his childhood

A
B.
C.
D
E

. at

in
on

. across

None of these

Answer: B

2. The boy was cured typhoid.

A. from
B. of

C.
D
E

for

. through

None of these

Answer: B

3 .The king rebel.

A. excused
B. forgave
C.
D
E

pardoned

. Of the

None of these

Answer: C

4.1saw a

A
B.
C.
D
E

. group

herd
swarm

. flock

None of these

Answer: B

5. He was sent to the prison for his

A. sin

B. vice
C.
D
E

crime

. guilt

None of these

Answer: C

4
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Annand Bhawan.

of cows in the field.
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6. 1. Gaurantee

2. Garuntee

3. Guarantee

4. Guaruntee

H W N -

A
B.
C.
D
E. None of these
Answer: C

7. 1. Delinquescent
2. Deliquescent

3. Deliquecent

4. Delinquesent

A W N

A
B.
C.
D
E. None of these
Answer: B

7.

1. Equannimity

2. Equanimity

3. Equinimity

4. Equanimmity

A

moo0n w;
B wWwN R

None of these

Answer: B
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Directions (8-17) as international oil prices head higher, India will have to... (1)... itself for the economic
risks of expensive energy. Brent crude oil futures were trading at about $70 a barrel on Friday, marking a
four-year high and a price increase of close to 6% since the start of the year. The rise in international
prices has been particularly sharp given that oil had been selling at below $45 in June. This is a rally of
about 55% in a matter of just months. Qil price..(2).. have often been explained by changes in the supply
outlook ..(3).. by the decisions of major oil producers. Oil trading at $70 should offer some..(4).. to
traditional oil producers like the OPEC members, which have suffered the ..(5).. of U.S. shale producers.
According to the IMF, last year, for instance, Saudi Arabia would break even on its budget with oil at
$70. The recent spurt in oil prices, however, seems to be more the result of a weakening of the U.S.
dollar than anything else. The dollar has been gradually weakening against major global currencies since
the beginning of last year. But the trend was given a new push following comments by U.S. Treasury
Secretary Steven Mnuchin in favour of a weak-dollar policy. At Davos this week, Mr. Mnuchin noted that
a weaker dollar would be good for American trade. However, given that the U.S. is right in the middle of
a monetary tightening cycle, it is unlikely that the dollar will continue to boost oil prices, unless the
Federal Reserve slows the projected pace of interest rate increases.

Consumers in India are already beginning to feel the pinch as petrol and diesel prices have hit multi-year
highs. The retail selling price of both petrol and diesel in Delhi, for instance, has risen by close to X3 a
litre since the..(6).. of 2018. The rise in domestic fuel prices is on expected lines given the policy of
dynamic daily pricing of petrol and diesel..(7).. by the Centre. But as rising oil prices put pressure on
domestic consumers, the government will have to..(8).. from ..(9).. to subsidies to ease the pain. It
should work towards rationalizing taxes on petrol and diesel to bring down retail prices. This will help
consumers without..(10).. an undue burden on the oil marketing companies.

8.[1]

A. adynamic
aegis
backward
armor
brace

mooO®

Answer: E

Explanation: brace — a device fitted to something, in particular a weak or injured part of the body, to
give support.

9.[2]

A. barricade
redoubt
dynamics
rampart
protection

(7  { @lin
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Answer: C

Explanation: dynamics — the branch of mechanics concerned with the motion of bodies under the action
of forces.

10. [3]

A. palisade
parapet
bastille
influenced
finished

mooOw®

Answer: D
Explanation: influenced — have an influence on.
11. [4]

A. bastion
consummate
native
respite
resume

Mmoo ®

Answer: D
Explanation: respite — a short period of rest or relief from something difficult or unpleasant.
12. [5]

A. bulwark
conclude
national
restart
onslaught

Mmoo ®

Answer: E
Explanation: Onslaught — a fierce or destructive attack.
13. [6]

A. buttress
beginning
preserving
local
completing

& | § Blin|w|
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Answer: B
Explanation: beginning — the point in time or space at which something begins.
14. [7]

munitions
deterrence
endured
adopted
immunity

mooOw>P

Answer: D
Explanation: adopted — legally take (another’s child) and bring it up as one’s own.
15. [8]

A. fortress
fortification
dike
continue
desist

moow

Answer: E
Explanation: desist — stop doing something; cease or abstain.
16. [9]

A. garrison
resorting
frustrate
withholding
fence

moow

Answer: B

Explanation: resorting — turn to and adopt (a course of action, especially an extreme or undesirable one)
so as to resolve a difficult situation.

17.[10]

A. embankment
imposing
citadel
refusing
deny

& | § Blin|w|
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Answer: B
Explanation: imposing — grand and impressive in appearance.

Directions (18-22): Read the following passage carefully and answer the questions given below it.
Certain parts are given in bold to answer some of the questions based on the passage.

These mismatched graduates face poorer prospects and lower earnings than their peers who embark on
careers that are a better fit for the knowledge and skills they have acquired through three or four years
of study. It suggests that traditional careers advice isn’t working. The problem isn’t necessarily that too
many students are taking the wrong course. There is little evidence that graduates are studying the
“wrong” subjects, according to the UUK research, since most are on courses that offer subject
knowledge and employability skills that are very much in demand. Politicians complain of a, but
graduates face an “experience gap” — with many employers preferring to recruit young people who have
spent a couple of years in the workplace rather than raw recruitments from the university. To help
graduates find the right jobs for them, lots of universities are experimenting with new ways to make
their careers advice more accessible and meaningful. At the University of Kent, students can use an
online Careers Explorer service to match their skills to career options, and a work-study scheme that
provides bursaries for work experience. Students at the University of Dundee can take employability
modules in parallel with their academic work, including online and personal career planning sessions.

18. What can be taken in parallel with academic work by students of University of Dundee?

A. matching career skills
B. work study scheme

C. employability modules
D. work experience

E. allthe above

Answer: C
Explanation: Option 3 is suitable
19. What are graduates facing?

A. planning sessions
B. raw recruitments
C. (1)and(2)

D. employability skills
E. experience gap

Answer: E
Explanation: Option 5 is suitable

20. What is meant by ‘bursaries?’

G '§ Blin
N~~~
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A. A grant especially one awarded to someone to enable them to study at university or college.
B. a place to live as given by authorities

C. anaward to highlight achievements of a person

D. A privilege by the Government in order to propsper in field of academics and research work.
E. (2)and (3)

Answer: A
Explanation: Option 1 is suitable
21. According to passage what is not working?

A. poorer prospects

B. traditional careers advice
C. wrong course

D. wrong subject

E. (3)and (4)

Answer: B
Explanation: Option 2 is suitable
22. What re universities doing in order to help graduates find the right jobs for them?

A. preferring to recruit young people

B. experimenting with new ways to make their careers advice more accessible

C. experimenting with new ways to make their careers advice more and meaningful
D. (2)and (3)

E. none of the above

Answer: D
Explanation: Option 4 is suitable.

Directions (23-27) Rearrange the following sentences in the proper sequence to form a meaningful
paragraph then answer the following questions.

A. “These are old rates and we have filed new rates with better yields and, hopefully, our new annuity
products will be approved soon,” says Kshitij Jain, CEO, and Exide Life Insurance.

B. For many investors, buying an annuity is a compulsory evil and when they retire at 60, investors in the
New Pension Scheme have to put at least 40% of their corpus in an annuity.

C. Exide Life Insurance, for instance, is offering less than 5% on the annuity option that returns the
corpus after the investor’s death.

D. If you opt for a sweep-in account, you could earn more by just keeping your money in the bank.

E. This is similar to the return offered by your savings bank on the balance in your account.

o
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23. Which of the following should be the FIRST sentence after rearrangement?

A. A
B. B
C. D
D. C
E. E
Answer: D

Explanation: CORRECT SEQUENCE — CEDAB

24. Which of the following should be the THIRD sentence after rearrangement?

Answer: B

A
B.
C.
D
E

A
D
C
B
F

25. Which of the following should be the LAST (FIFTH) sentence after rearrangement?

Answer: E

A
B.
C.
D
E

A
E
C
D
B

26. Which of the following should be the SECOND sentence after rearrangement?

Answer: A

A
B.
C.
D
E

E
B
C
D
A

27. Which of the following should be the FOURTH sentence after rearrangement?

A
B.
C.
D
E

ﬁ’oSONS
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Answer: D

Directions (28-32) In each of the following questions four words are given, of which two words are
most nearly the same or opposite meaning. Find out the two words which are the most nearly the
same or the opposite meaning.

28.[1]

A. ineffable
B. sacrosanct
C. voluble

D. inviolable

A. A-C

B. B-C

C. B-D

D. A-B

E. C-D

Answer: C

Explanation: B-D are synonyms
Sacrosanct/inviolable — something which is regarded as too important or valuable to be interfered with.
29. [2]

A. qualms

B. restive

C. calumny

D. misgiving

A. B-C
B. A-D
C. B-D
D. A-C
E. C-D
Answer: B

Explanation: A-D are synonyms

Qualms/misgiving — an uneasy feeling of doubt, worry, or fear, especially about one’s own conduct

@ | § Blin|w|
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30. [3]

A. amicable
B. malignant
C. benign

D. incredible
A. A-D

B. B-C

C. AC

D. B-D

E. C-D

Answer: B

Explanation: B-C are antonyms

Malignant — evil in nature or effect; malevolent
Benign — gentle and kind. Warm-hearted

31. [4]

A. attribute

B. confuse

C. bolster

D. strengthen

A. B-C

B. A-D

C. A-B

D. B-D

E. C-D

Answer: 5. C-D

Explanation: C-D are synonyms
Bolster — provide support or strength
32. [5]

A. meticulous

B. rancid

& | § Blin|w|
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C. slapdash
D. tedious

A. A-C

B. B-D

C. A-B

D. C-D

E. B-C

Answer: A

Explanation: A-C are antonyms

Meticulous — showing great attention to detail; very careful and precise.
Slapdash — done too hurriedly and carelessly, disorganized, unsystematic
33. All agog

Meaning — in a state of excitement, full of vigor

Example: The people were all agog outside the stadium to welcome Olympic Gold medalist
34. Hand in glove

Meaning — in close relationship, alliance

Example: After the controversial match got over, it was found that referee was hand in glove with the
winning team.

35. against the clock
Meaning — to work with extra efforts to finish something in limited time

Example: The new committee has given assurance of project completion within stipulated time and that
they will work against the clock

36. Smell a rat

Meaning — to suspect something wrong

Example: The investigating agency smelt a rat behind the murder of businessman
37. Tip off

Meaning — to give information or a hint to, to warn

Example: He tipped me off about her arrival

p '§ Blin
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Directions (38-40): Five statements are given below, labelled 1, 2, 3, 4 and 5. Among these, four
statements are in logical order and form a coherent paragraph/passage. From the given options,
choose the option that does not fit into the theme of the passage.

38.[1]

A. Over the years, the MBBS course, set in tertiary care institutions which often deal with exotic and
rare disorders, has not equipped students to deal with the health needs of local communities.

B. This will ensure that overall health and health care needs, rather than narrow professional interests,
are the focus.

C. The explosion in medical knowledge has resulted in the introduction of new specialties.

D. But there has been a marked reduction in the time spent for training in each subject and for acquiring
practical skills during internship.

E. The focus of undergraduate education has shifted from training basic doctors to manage common
diseases to learning medical theory. This pattern has made them less skilled and much less capable of
managing basic conditions.

Answer: B.
Explanation: Option 2 is suitable as it states about health and not MBBS.
39. [2]

A. It will take a decade or more to create a research environment in the existing law schools, particularly
for cutting-edge research that contribute to law reform and development.

B. Meanwhile, the recommendation of the Knowledge Commission to set up a few advanced research
centres that can attract available talent to plan and develop legal research is worthy of immediate
attention.

C. This is where the Central government should invest, as it did in the field of scientific and industrial
research in the early 1960s and 1970s.

D. They can be networked with the law schools of the region: this will be of mutual advantage.

E. The shortage of teachers can be addressed partly through a flexible approach in faculty composition:
Answer: E

Explanation: Option 5 is suitable as it states about shortage of law teachers.

40. [3]

G '§ Blin
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A. Indian historians were also polite as though belonging to the Oxbridge club was more critical than
compassion for the victims.

B. Between the middle ground of silence and an illiteracy about the event, the narrative split into two.

C. One strand merged into folklore and people’s memory and became a tale told by old men and women
to their families.

D. the British tended to explain it away as one of the sideshows of history, an act of contingency of an
imperial Winston Churchill too busy with winning the war.

E. In the other what one sees is a banalization, a ritualization of the event.
Answer: D
Explanation: Option 4 is suitable as it states about a different topic.

41. In RFID, “R” stands for

A. Rapid
B. Remote
C. Random
D. Radio
E. None of these
Answer: D.
42, is the application of investigation and analysis techniques to gather and preserve

evidence from a particular computing device in a way that is suitable for presentation in a court of
law.

A. Robotics

B. Animation

C. Simulation

D. Computer Forensics
E. None of these

Answer: D.

43. Which of the following is the process of sorting through large data sets to identify patterns and
establish relationships to solve problems through data analysis?

A. Data Mining

B. Data Marting

C. Data Warehousing
D. All of these

E. None of these

Answer: A.

G '§ Blin
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44. The practice of collecting into a single database data relevant to a particular function, department,
etc is known as?

A. Data Mining

B. Data Marting

C. Data Warehousing
D. Data Diddling

E. None of these

Answer: B.

45. The unauthorized changing of data before or during their input to a computer system is known as

A. Data Mining

B. Data Marting

C. Data Warehousing
D. Data Diddling

E. None of these

Answer: D. Data Diddling

46. In Excel allows you to extract the significance from a large, detailed data set.
A. Sorting
B. Pivot table
C. Conditional Formatting
D. All of these
E. None of these

Answer: B.
47. The rules of a language is known as

A. Code
B. Structure
C. Procedure
D. Flow Chart
E. Syntax

Answer: E.

48. is a part of computer network that interconnects various pieces of network, providing a
path for the exchange of information between different LANs or subnetworks.

A. Server
B. Client
C. Protocol

p '§ Blin
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D. Backbone
E. None of these

Answer: D.
49, is a sequence of responses to an initial message posting.

A. Comment

B. List

C. Post

D. Thread

E. None of these

Answer: D.
50. is a cyber-attack intended to redirect a website’s traffic to another, fake site

A. Redirecting
B. Phishing

C. Pharming

D. All of these

E. None of these

Answer: C.
51. The Symbol/lllustration on desk pointing to a specific program is known as

A. Icon
B. Hotspot

C. Menu

D. All of these

E. None of these

Answer: A
52. When a disk is formatted, it is divided into tracks, and each track is divided into

A. Sectors

B. Cluster

C. Backup

D. All of these

E. None of these

Answer: A
53. What is the shortcut key for “Superscript” the selected text?

A. Ctrl+=
B. Ctrl+-

@ | § Blin|w|
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C.
D.

E.

Ctrl+Shift + =
Ctrl+Shift + —
None of these

Answer: C

54.

is a form of computer security hacking in which corrupt DNS data is introduced into the

DNS resolver’s cache, causing the name server to return an incorrect IP address.

A
B.
C.
D
E

. ARP Spoofing

DNS Spoofing
IP Spoofing

. All of these

None of these

Answer: B

55. Every computer connected to an Intranet/Extranet must have a distinct

A
B.
C.
D
E

Firewall
Brand name
Proxy Server

. Domain Name

IP Address

Answer: E

56. If you want to copy the entire disk then what command will you use?

Format

A.
B. Chkdsk
C.
D
E

Copy

. Disk Copy

None of these

Answer: D

57. In a computer system, is a group of servers and other resources that act like a single

system and enable high availability

A
B.
C.
D
E

. Control

Cluster
Backup

. Central

Input

Answer: B

(7  § ©lin|w
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58. Cin “DHCP” Stands for

A. Control

B. Configuration
C. Cost

D. Central

E. None of these

Answer: B

59. If an Excel Worksheet is to be linked for use in PowerPoint presentation, the following should be
clicked

A. Edit, Paste Special
B. Edit, Paste

C. Edit, Copy

D. File, Copy

E. None of these.

Answer: A

60. Programs that automatically submit your search request to several search engines simultaneously
are called

A. Metasearch engines
B. Web crawlers
C. Spiders
D. Hits

E. None of these

Answer: A
61. Software required to run the hardware is known as

A. Task Manager

B. Task Bar

C. Program Manager
D. Device Driver

E. None of these

Answer: D.
62. A system call is a method by which a program makes a request to the

A. Input Management
B. Output Management
C. Interrupt processing
D. Operating system

E. None of these

(7  § ©lin|w
JLESSONSE/‘ www.splessons.com




RBI ASSISTANT MAINS MODEL PAPER 2 EBOOK

Answer: D.
63. Shell is the exclusive feature of

A. UNIX

B. DOS

C. System software

D. Application software
E. None of these

Answer: A.
64. An assembler is

A. Programming language dependent.
B. Syntax dependent.

C. Machine dependent.

D. Data dependent

E. None of these

Answer: C.

65. The is a program-planning tool that allows the programmers to plan program logic by
writing program instructions in an ordinary language

A. Flowchart

B. Pseudocode
C. Program

D. Looping

E. None of these

Answer: B.

66. Which logic is used to select the proper path out of two or more alternative paths in the program
logic?

A. Looping logic
B. Sequence logic
C. lteration logic
D. Selection logic
E. None of these

Answer: D.
67. An error in software or hardware is called a bug. What is the alternative computer jargon for it?

A. Leech
B. Squid
C. Slug

(7  § ©lin|w
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D. Glitch
E. None of these
Answer: D.
68. is computer software designed to operate the computer hardware and to provide

platform for running application software

A. Application software
B. System software

C. Software

D. Operating system

E. None of these

Answer: B.

69. The is the amount of data that a storage device can move from the storage medium to
the Computer per second

A. data migration rate
B. data digitizing rate
C. data transfer rate
D. data access rate

E. None of these

Answer: C.

70. A program design tool in which standard graphical symbols are used to represent the logical flow
of data is called as a

A. Flowchart

B. Pseudocode

C. Algorithm

D. Structured Chart
E. None of these

Answer: A.
71. A digital multimedia file available on the Internet to be downloaded is known as

A. Bookmarks

B. Blogs

C. Podcasts

D. All of these

E. None of these

Answer: C

72. Web site that uses encryption techniques to secure its data is known as

@ | f @lin|
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A
B.
C.
D
E

. Script Kiddie

Secure Site
Social Engineering

. Data Mining

None of these

Answer: B

73. Program that automatically analyzes all network traffic, assesses system vulnerabilities is known

as

A
B.
C.
D
E

Hardware Vandalism
Pharming
Intrusion Detection

. Phishing

None of these

Answer: C

74. A cookie that was not created by the website that attempts to access it is known as

mooO P

First Party Cookie
Second Party Cookie
Third Party Cookie
Intrusion Detection
None of these

Answer: C

75.

A
B.
C.
D
E

is a communication technology used by some incoming mail servers.

. TCP

POP
FTP

. Telnet

None of these

Answer: B

76. Many e-commerce sites use to determine customer preferences.

A
B.
C.
D
E

Data Redundancy
Data Integrity
Data Attribute

. Data Mining

None of these

Answer: D

)LEssoNs N
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77. is a form of computer security hacking in which corrupt DNS data is introduced into the
DNS resolver’s cache, causing the name server to return an incorrect IP address.

A. ARP Spoofing
B. DNS Spoofing
C. IP Spoofing
D. All of these
E. None of these

Answer: B

78. is a server that acts as an intermediary for requests from clients seeking resources from
other servers.

A. Dedicated server
B. Virtual server

C. Proxy Server

D. Cache Server

E. None of these

Answer: C

79. is a program that visits Web sites and reads their pages and other information in order
to create entries for a search engine index.

A. Metasearch engines
B. Sniffer
C. Spiders
D. Hits

E. None of these

Answer: C

80. is a type of surveillance technology used to monitor and record each keystroke typed on
a specific computer’s keyboard.

A. Soft loading
B. Counterfeiting
C. Renting

D. Key logger

E. None of these

Answer: D
81.4,5,6,14,?,100.5

A. 325
B. 47.5

@ | f @lin|
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C. 67.5
D. 375
E. 275

Answer: A

Explanation:

4*1+1=5

5*15-15=6

6*2+2=14

14*25-25=325
32.5*3+3=100.5

82.8,4,4,8,32,?

A. 354
B. 384
C.
D
E

294

. 234

256

Answer: E

Explanation:

8*05=4

4*1

4

4*2=8

8*4=32

32*%8=256

83.2,2,7,?,87,342

A 21
B. 26
C.
D
E

23

. 24

22

Answer: E
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Explanation:

2+412-1=2

2+22+1=7

7+4%>-1=22

84.6,8,8,622,?,151

A. 43
B. 42
C.
D
E

44

. 47

48

Answer: D

Explanation:

6*1+2=38

8*15-4=8

8*2+6=22

22*%25-8=47

47 *3+10=151

85.4,?,14,40, 88,170

A
B.
C.
D
E

N N o o1 O

Answer: C

Explanation:

4+1%2+1=6

6+32-1=14

14 + 52+ 1=40........

86. A milkman buys two cows for Rs. 3000. He sells first cow at a profit of 22% and the second cow at

a loss of 8%. What is the SP of second cow if in the whole transaction there is no profit no loss?
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A. Rs. 2312
B. Rs. 2024
C. Rs. 2484
D. Rs. 2532
E. None of these

Answer: B

Explanation:

First Cow Second cow

CP x (750-—x)
122x

92
SP 100 100 (750 — x)
122x+ . 92
3000 =~ + 7 (3000 — )
_ K% 92 92
~ 3000 = 100 +m(3000) —'mx)
x = 800
=~ CP of second Cow = 3000 — 800
= 2200 Rs.
- Required S.P. = % x 2200
= 2024 Rs.

87. Sum of CP’s of two cows is Rs. 39, 000. Both the cows are sold at a profit of 20% and 40%
respectively with their SP’s being the same. What is the difference of CP’s of both the cows?

A. Rs. 3,000
Rs. 2, 000
Rs. 1, 500
Rs. 2, 500
None of these

Mmoo o

Answer: A

Explanation:

First cow :Second cow

LetCP—» 10x; : 104
SP— 12, : 14,,
Ratio of their cost price = 7_: 6
~.130— 39000
1 - 300
10 — 3000Rs.

88. A shopkeeper sells his gods at its CP only. But he uses 650 g weight at the place of 1000 g weight
for a kg. What is his net profit percentage?
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A. 55%

B. 201/3%

C. 492/3%

D. 5311/13%

E. None of these

Answer: D
Explanation:

1 1+ O _E — EEI
His profit % = 5 X 100=53—-9%

89. A seller calculated his intended selling price at 6% profit on the cost of a product. However, owing
to some mistake while selling, the units and tens digits of the selling price got interchanged. This
reduced the profit by Rs. 180 and profit percentage to 2.4%. What is the cost price of the product?

A. Rs. 4500
B. Rs. 5000
C. Rs. 4750
D. Rs. 6000
E. None of these

Answer: B

Explanation:

Profit % reduced =6 - 2. 4 = 3.6%
= Required CP = 338—°x 100

6
= 5000 Rs.

90. Jim sells a book to Carrey at a profit of 20% and Carrey sells this book to Sid at a profit of 25%.
Now Sid sells this book at a loss of 10% to Simba. At what percentage loss should Simba sells this book
now so that his SP becomes equal to Jim’s CP?

A. 26.68%

B. 25.92%

C. 58.66

D. Cannot be determined
E. None of these

Answer: B

Explanation:

(7  § ©lin|w
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Jim Carrey Sid Simba
100— 120 — 150 1325

Required % = %’3 x 100

=35 100 = 25.92%
B

91. Sofi started travelling from a place A to B and Priya started travelling from a place B to A which are
576 km apart. They meet after 12 hours. After their meeting, Sofi increased her speed by 2 km/hr and
Priya reduced her speed by 2 km/hr, they arrived at B and A respectively at the same time. What is
their initial speed?

A. 21 kmph, 23 kmph
B. 25 kmph, 27 kmph
C. 25 kmph, 23 kmph
D. 24 kmph, 26 kmph
E. 23 kmph, 28 kmph

Answer: C.

Explanation:

Sum of their speeds = Distance/time = 576/12 = 48 kmph
Respective Speed of Sofi and Priya = (25 + 23) = 48 kmph

92. A and B set out at the same time to walk towards each other respectively from a place P and Q
144 km apart. A walks at the constant speed of 8 km/h, while B walks 4 km in the first hour, 5 km in
the second hour, 6 km in the third hour and so on. Then the “A” will meet “B” at?

A. 36 km
B. 72km
C. 56km
D. 26 km
E. 28 km

Answer: B.

Explanation:

Distance travelled by them in first hour =12 km

Distance travelled by them in second hour =13 km and so on
In 9 hours both will cover exactly 144 km.

In 9 hours each will cover half the total distance.
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93. Two Vans start from a place with a speed of 50 kmph at an interval of 12 minutes. What is the
speed of a car coming from the opposite direction towards the place if the car meets the vans at an
interval of 10 minutes?

A. 13 kmph
B. 10 kmph
C. 14 kmph
D. 16 kmph
E. None of these

Answer: B.

Explanation:

50*12/60 = 10/60 * (50+x)
600 = 500 + 10x

x =10 kmph

94. A car travels from a place A to B in 7 hour. It covers half the distance at 30 kmph and the
remaining distance at 40 kmph, what is the total distance between A and B?

A. 120 Km
B. 250 Km
C. 240Km
D. 150 Km
E. 255km

Answer: C.
Explanation:

Total Distance = x
Xx X % —
(2 30)+(2 40) =7

X =240

95. Two persons A and B start from the opposite ends of a 450 km straight track and run to and from
between the two ends. The speed of the first person is 25 m/s and the speed of other is 35 m/s. They
continue their motion for 10 hours. How many times did they pass each other?

A
B.
C.
D
E
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Answer: D.

Explanation:

First person speed = 25 m/s * 18/5 = 90 kmph
Second person speed = 35 m/s * 18/5 = 126 kmph
First person covers 90 * 10 = 900km

900/450 =2

96. A right circular cone is placed over a cylinder of the same radius. Now the combined structure is
painted on all sides. Then they are separated now the ratio of area painted on Cylinder to Cone is 3:1.
What is the height of Cylinder if the height of Cone is 4 m and radius is 3 m?

A. 5m

B. 6m

C. 8m

D. 10m

E. Cannot be determined

Answer: B

Explanation:

Cylinder painted area = 2mrh+mr?
Cone painted area = nrl

2h+r/V (r? +h1%2)=3:1

h=6

97. The diameter of Road Roller is 84 cm and its length is 150 cm. It takes 600 revolutions to level once
on a particular road. Then what is the area of that road in m??

A. 2376
B. 2476
C. 2496
D. 2516
E. None

Answer: A
Explanation:
Area

600*2*22/7*42/100*150/100=2376
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98. A smaller triangle is having three sides. Another big triangle is having sides exactly double the
sides of the smaller triangle. Then what is the ratio of Area of Smaller triangle to Area of the Bigger
triangle?

A. 1:2
B. 2:1
C. 14
D. 41
E. Cannot be determined

Answer: C

Explanation:

Smaller triangle sides = a, b, c

Area= Vs(s-a) (s-b) (s-c);

s=a+b+c/2

= V(a+b+c)(b+c-a)(a+c- b)(a+b-c)/4
Bigger triangle =2a, 2b, 2c

Area = V(a+b+c)(b+c-a)(a+c- b)(a+b-c)
Ratio=1:4

99. ABCD is a square of 20 m. What is the area of the least-sized square that can be inscribed in it with
its vertices on the sides of ABCD?

A. 120 m?
B. 100 m?
C. 200 m?
D. 250 m?
E. None

Answer: C

Explanation:

It touches on midpoints on the sides of the square ABCD
Side=V (102 +10%) =v200

Area= 200 m?
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100. A hemispherical bowl of diameter 16cm is full of ice cream. Each student in a class is served
exactly 4 scoops of ice cream. If the hemispherical scoop is having a radius of 2cm, then ice cream is
served to how many students?

A. 16
B. 32
C. 64
D. 128
E. None

Answer: A

Explanation: Solution:
2/3*n*83% = n*4*2/3*nt*23
n=16

101. Find the least number which when divided by 2, 3, 4 and 5 leaves a remainder 3. But when
divided by 9 leaves no remainder?

33

63

81

123

None of these

mooOwpP

Answer: B

Explanation:

LCM of 2, 3,4 and 5 is 30, let number be 30k + 3

Put k = 2, we get 63 which is divisible by 9

102. Find the 4-digit smallest number which when divided by 12, 15, 25, 30 leaves no remainder?

A. 1020
B. 1120
C. 1200
D. 1800
E. None of these

Answer: C
Explanation:

LCM of 12, 15, 25 and 30 is 300

(7  § ©lin|w
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Least number of 4-digit divided by 300 is 1200
103. Find the least number which when divided by 12, 27 and 35 leaves 6 as a remainder?

A. 3774
B. 3780
C. 3786
D. 4786
E. None of these

Answer: C
Explanation:
Number =LCM (12,17,35)+ 6=3780+ 6=3786

104. The HCF and LCM of two numbers is 84 and 840 respectively. If the first number is 168, find the
second one

A. 420
B. 360
C. 210
D. 480
E. None of these

Answer: A

Explanation:

LCM*HCF = a*b

840*84 = 168*b, b = 420

105. Find the last number which when divided by 6, 8, 15 and 30 leaves remainder 2, 4, 11 and 26
respectively?

A. 124
116
120
134
None of these

mooOw

Answer: B
Explanation:

LCM (6, 8, 15,30) -4 =120-4=116
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106. Three friends A, B, C invested in a business in the ratio of 4:5:6. After 6 months C withdraw half
of his capital. If the sum invested by A is 36000, then the profit earned by C out of the total profit of
60000.

A. 20000
B. 30000
C. 40000
D. 50000
E. None of these

Answer: B

Explanation:

sum invested by A = 4x = 36000.

X =9000

Investment made by A, B, C— 36000, 45000, 54000

Ratio in which the profit will divide- 36000*12: 45000*2 : 54000*6 + 27000*6
i.e 4:5:9. So C share = (9/18)*60000 = 30000

107. Two persons A and B invested in a business with 115000 and 75000 rupees respectively. They
agree that 40% of the profit should be divided equally among them and rest is divided between them
according to their investment. If A got 500 rupee more than B, then the total profit is.

A. 3599.34
B. 3699.34
C. 3958.34
D. 3999.34
E. None of these

Answer: C

Explanation:

Ratio in which the profit will divide — 23:15. Let the profit be P
Now, [(23/38) — (15/38)]*(60/100)*P = 500

P =3958.34

108. P, Q, R invested in the ratio of 6:5:7. After the end of business term they receive the profit in the
ratio 3:1:5. Find the ratio of time in which they invested in the business.

A. 34:14:50
B. 35:14:50
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C. 35:50:14
D. 14:35:50
E. None of these

Answer: B

Explanation:

Take time as t1, t2 and t3

(6*t1/5*t2) = 3/1, u will get t1/t2 =5:2

Similarly, (5*t2/7*t3) = 1/5, u will get t2/t3 = 7/25

109. Three persons enter into a partnership by investing in the ratio of 4:5:8. After one year A invest
more 4300 and B withdraws 3200. Now, the ratio of investment changes to 5:4:7. Approximately how
much A invested initially?

A. 1.14555
B. 2.14655
C. 3.14755
D. 4.14855
E. 5.None of these

Answer: C
Explanation:

After one year — 4x+4300: 5x-3200: 8x

(4x+4300) _ 5

So, to find X — =
(5x-3200) 4

So investment made by A = [@]*4 = 14755.55

110. A and B invested rupees 4000 and 5000 respectively in a business. A being an active partner will
get rupee 50 every month extra for running the business. In a year if A receive a total of 800 rupee,
then what will B get from the business?

A. 250
B. 200
C. 300
D. 400
E. None of these

Answer: A

Explanation:
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Ratio in which the profit will divide — 4:5.
A will get 50*12 = 600 rupees extra, so from business A got 200 rupees.
i.e. (4/9)*P = 200, P = 450. So B will get 450 — 200 = 250 rupees

111. How many 3 digit number can be formed with the digits 5, 6, 2, 3, 7 and 9 which are divisible by 5
and none of its digit is repeated?

A. 12
B. 16
C. 20
D. 24
E. None of these

Answer: C

Explanation: _ _ 5 first two places can be filled in 5 and 4 ways respectively so, total number of 3 digit
number = 5*%4*1 =20

112. In how many different ways can the letter of the word ELEPHANT be arranged so that vowels
always occur together?

A. 2060
B. 2160
C. 2260
D. 2360
E. None of these

Answer: B

Explanation:

Vowels = E, E and A. They can be arranged in 3! /2! Ways
So total ways = 6!*(3! /21) = 2160

113. There are 4 bananas, 7 apples and 6 mangoes in a fruit basket. In how many ways can a person
make a selection of fruits from the basket?

A. 269
B. 280
C. 279
D. 256
E. None of these

Answer: C

Explanation:
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Zero or more bananas can be selected in 4 + 1 = 5 ways (0 orange, 1 orange, 2 orange, 3 orange and 4
orange) Similarly apples can be selected in 7 +1 = 8 ways and mangoes in 6 +1 = 7 ways so total number
of ways = 5*8*7 = 280 but we included a case of 0 orange, 0 apple and 0 mangoes, so we have to
subtract this, so 280 — 1 = 279 ways

114. There are 15 points in a plane out of which 6 are collinear. Find the number of lines that can be
formed from 15 points.

A. 105

B. 90

C. 91

D. 95

E. None of these

Answer: C

Explanation:

From 15 points number of lines formed = 15c2

6 points are collinear, number of lines formed by these = 6¢2
So total lines = 15c2 -6¢c2 +1=91

115. In how many ways 4 Indians, 5 Africans and 7 Japanese be seated in a row so that all person of
same nationality sits together

A. 4151713l

B. 4151715l

C. 416!7!3!

D. can’t be determined
E. None of these

Answer: A

Explanation: 4 Indians can be seated together in 4! Ways, similarly for Africans and Japanese in 5! And 7!
Respectively. So total ways =41 5! 7! 3!

116. x2— 41x + 400 = 0
y2—-29y +210=0

A. X>Y
X<Y
XzY
X<y
X =Y or relation cannot be established

mooO®

Answer: A.
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Explanation:

X2—41x+400=0

x=25,16

y2—=29y +210=0

y=14,15

117.x*-25x+ 156 =0
y2—-32y+255=0

A X>Y
X<Y
X>Y
X<y
X =Y or relation cannot be established

Mmoo ®

Answer: B
Explanation:
X2—-25x+156=0
x=12,13
y2—32y+255=0

y=15,17

118. x> - 35x +294 =0
y2—23y+132=0

A. X>Y
B. X<Y
C. XY
D. X<Y
E. X =Y orrelation cannot be established

Answer: A
Explanation:
X?—35x+294=0

x=21,14
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y2-23y+132=0

y=11,12

119. x> = 64
y2—-34y+289=0

A X>Y
X<Y
XY
X<Y
X =Y or relation cannot be established

mooOw®

Answer: B.

Explanation:

X2 =64

x=8,—-8

y2—34y +289=0

y=17,17

120. x*-29x + 208 =0
y2-32y+255=0

A. X>Y
B. X<Y
C. XY
D. XY
E. X =Y orrelation cannot be established

Answer: E.

Explanation:

X?—29x+208=0

x=13,16

y2—32y+255=0

y=15,17

121. What does ‘E @ F & G + H’ means?

A. His the niece of E.
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H is the nephew of E.

E is the paternal uncle of H.
H is the father of E.

Either (1) or (2)

mooO®

Answer: E

Explanation:

‘E@ F & G+ H means E is brother of F, F is wife of G, G is father of H.

E @: G

Hence, H is either nephew or niece of E.

122. What does ‘1 + ] € K <& L > M’ means?

A. |is the son of M.

B. listhe nephew of M.

C. Mis the father-in-law of I.
D. listhe son-in-law of M.

E. Misthe father of I.

Answer: D

Explanation:

‘1+143 K> L > M means | s the father of J, J is the daughter of K, K is the daughter of L, L isthe

husband of M.
L :@
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123. f ' P+ Q-R @ S’ and ‘T & S’ is given, then which of the following statement is true?

A. Sisthe aunt of P.

B. Qis the niece of S.

C. Sisthe father of P and Q.
D. Pisthe niece of S.

E. Sisthe father of P.

Answer: D

Explanation:

‘P+Q-R @ S means P is sister of Q, Qis son of R, Ris brother of Sand ‘T & S’ means T is wife of S.

Q —l@
Hence, P is the niece of S.

124. A is sister of B. E is brother of B. E is son of H. H is married to F. F is daughter of G. F has only one
daughter. G is married to C. E is brother of D. D is married to I.

How is | related to A?

A. Sister

B. Mother

C. Daughter-in-law

D. Sister-in-law

E. None of these
Answer: D
Explanation:

SE
H() <+ F()
AQ). B(*)......E(+)... D(+) +—*1()

125. If M is brother of C then how is G related to M?

A. 1.Cousin
B. 2.Uncle
C. 3.Brother
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D. 4.Can’t be determined
E. 5.None of these

Answer: D
Explanation: Gender of G is not known

(Directions 126 — 130): Given below are the codes for the digits/symbols. Study the conditions given

below and answer the questions that follow.
Digit/Symbol | % 5 * 8 & Z A 2 @ 9 S 4 ! 3 #
Code E | (0] ¥ B M K L \' A W Q X R G

Conditions:
1. If both the first and last elements are prime number, then interchange their codes.

2. If the second element is an even digit and the fourth element is a symbol, then code both of them
with the code of the fourth element.

3. If the first element is a perfect square and the last element is a symbol, then code both of them as Z.

4. If the third element is an even prime and the fifth element is an odd prime, then code both of them as
S.

126. %&2#7@

A. EBSVSG
B. EBSGSV
C. EDSGSV
D. GBSVSB
E. EBLGMV

Answer: B
Explanation: It satisfies the condition number 4.

Hence, the code is EBSGSV.

127. 3*8! #5
A. IOXYGR
B. ROYXGI
C. 10YXGI
D. I0OYXGR
E. ROVXGR

Answer: D
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Explanation: It satisfies the condition number 1.

Hence, the code is IOXYGR.
128. 9%72"@

A. ZEMLKZ
B. ZWMLKZ
C. ZEMLKV
D. AEMLKZ
E. WAMLZK

Answer: A

Explanation: It satisfies condition number 3.
Hence, the code is ZEMLKZ.

129. @4#&92

A. VBGABL
B. BVGBAL
C. VBGBAL
D. VQGBAL
E. None of these

Answer: C

Explanation: It satisfies the condition number 2.

Hence, the code is VBGBAL.
130. 8#913%

A. YGAKRM
B. YGARKE
C. GAYERK
D. KAYGRA
E. None of these

Answer: E

Explanation: It does not satisfy any of the given conditions.

Hence, the code is YGAKRE.

Directions (131 -133).Study the following information carefully and answer the following questions

I. “Children play chess” is coded as “hic kit pan”

&
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Il. “He is a Children” is coded as “din san hic tax”
lIl.”Master trains us chess” is coded as “lao jay pan har”
IV. “He is sports master” is coded as “din san gir har”

131. Which of the following given statements is necessary to identify the code for the word ‘He’ as
‘din’?

A. |, Il and Il are sufficient

B. I, Il and IV are sufficient

C. land IV are sufficient

D. AllL II, Il and IV are necessary
E. None is sufficient

Answer: E

132. Based on above question which of the following given statement is necessary to deduce the code
‘girl “for the word ‘sports’?

I, I and IV are sufficient

I, I and Il are sufficient

I, lll, and IV are sufficient

Il and Either Ill or IV is sufficient
All'L 11, Il and IV are necessary

mooOwpP

Answer: E

133. Based on above question which of the following statement is necessary to deduce the code ‘tax’
for the word ‘a’?

A. |, 1l and IV are sufficient

B. Iand either Il or IV are sufficient
C. liand either | or IV is sufficient
D. Al II, Il and IV are necessary

E. None is sufficient

Answer: A

Directions (134-139) Study the following information and answer the given questions.
134. Statements: If any athlete fails in dope trail, he/she will be banned for five years.
Assumptions:

I. Athletes can be banned.

Il. It is possible to find out whether an athlete has consumed prohibited drinks or supplements.
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A. If only assumption | is implicit.
B. If only assumption Il is implicit.
C. If eitherlorllisimplicit.

D. If neither | nor Il is implicit.

E. If bothland Il are implicit.

Answer: E

Explanation: Assumption | is implicit as statement implies that an athlete is banned if he/she fails in
dope test. Assumption Il is also implicit as if an athlete fails in dope test there is a possibility that he/she
consumed banned drinks or supplements.

135. Statements: Police has served a notice to the residents with immediate effect to be careful of the
anti — social elements wandering in their areas.

Assumptions:
I. The anti — social elements will run away to other areas.

Il. The local residents will abide by the notice.

A. If only assumption | is implicit.

B. If only assumption Il is implicit.

C. Ifeitherlorllisimplicit.

D. If neither | nor Il is implicit.

E. If bothland Il are implicit.
Answer: B

Explanation: Assumption | is not implicit as it is not mentioned in the statement that anti social elements
run away in other areas. Assumption Il is implicit as residents have to abide the police notice.

136. Statements: Misconceptions about HIV cannot be eradicated from our society. We need to create
an awareness team for it.

Assumptions:
I. It is impossible to create an awareness team.
Il. People do not know about HIV.

A. If only assumption | is implicit.
B. If only assumption Il is implicit.
C. Ifeitherlorllisimplicit.

D. If neither I nor Il is implicit.

E. If bothland Il are implicit.

Answer: B
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Explanation: Assumption | is not implicit as statement does not imply that it is impossible to create
awareness team. Assumption Il is implicit as society does not know much about HIV and have
misconceptions about it.

137. Statements: “Use of cell phones is not allowed inside the bank” — A notice in a bank.
Assumptions:

I. All those who have cell phones will avoid talking on phone inside the bank.

Il. People may object to such directive as it restricts their freedom.

A. If only assumption | is implicit.
B. If only assumption Il is implicit.
C. If eitherlorllisimplicit.

D. If neither I nor Il is implicit.

E. If bothland Il are implicit.

Answer: A

Explanation: Assumption | is implicit as people avoid using phones inside bank due to the notice issued
by the bank. Assumption Il is not implicit as statement does not mention people objection about the
notice,

138. Statements: Majority of the students appearing for Xll students final exams have taken home
tuitions.

Assumptions:
I. There is a shortage of quality home tutors.
Il. Home tuition is the best method of learning.

A. If only assumption | is implicit.
B. If only assumption Il is implicit.
C. If eitherlorllisimplicit.

D. If neither | nor Il is implicit.

E. If bothland Il are implicit.

Answer: D

Explanation: Assumption | is not implicit as statement does not state that there is shortage of quality
home tutors. Assumption Il is also not implicit as it is not mentioned that home tuition is best method to
learn things.

139. Footwear: Leather :: Apparel: ?

A. shirt
B. pant
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C. cloth
D. jeans
E. None of these

Answer: C
Explanation: Footwear is made up of leather similarly apparel is made up of cloth
140. Waves: Air:: Ripples:?

A. Sound

B. water

C. light

D. wind

E. None of these

Answer: B
Explanation: waves travel in air while ripples travels in water

141. Energy : Joule :: Force: ?

A. Second

B. Kilogram

C. Newton

D. Pascal

E. None of these

Answer: C
Explanation: Energy is measured in joule similarly force is measured in Newton

142. Computer: CPU:: Human : ?

A. Lung

B. stomach

C. heart

D. intestine

E. None of these

Answer: C
Explanation: CPU is the heart of computer similarly heart for human
143. Software: Auto-Cad: : ? : Keyboard

Driver
hardware
graphics
windows
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E.

None of these

Answer: B

Explanation: Auto-Cad is a software while keyboard is hardware

144. Massif: Mountains: : Archipelago

A
B.
C.
D
E

. Caves

Islands
Forests

. Hillocks

None of these

Answer: B

Explanation: First is the group of second

145. Pedology: Soil:: Taxonomy : ?

A
B.
C.
D
E

. 1)Classification

2)Farming
3)Nature

. 4)Water

None of these

Answer: A

Explanation: First is the study of second

146. If Monday falls on 5th of month, then which day will fall three days after the 26th ?

A. Monday
B. Tuesday
C.
D
E

Wednesday

. Thursday

None of these

Answer: D

Explanation: 5th is Monday, then 12, 19, 26th also Monday

Then 3 days after is 29th, which is Thursday

147. How many days will be there from 22nd October 2012 to 5th March 2013 (both days are not
included)?

A.
B.
C.

128
133
132
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D.
E.

131
None of these

Answer: B

Explanation: 9+30+31+31+28+4 =133

148. If the day before yesterday was Tuesday, when will Saturday be?

A. Tomorrow
B. Yesterday
C.
D
E

Day after Tomorrow

. Day after Yesterday

None of these

Answer: C

Explanation: If day before yesterday was Tuesday, then today is Thursday.

Tomorrow will be Friday, day after tomorrow Saturday

149. Nalini went to the movies 11 day ago, she goes to the movies only on Saturday. What day of the
week is today?

A. Wednesday
B. Saturday

C.
D
E

Tuesday

. Thursday

None of these

Answer: D

Explanation: 7th day => Saturday

12th day => Thursday

150. On 8th May, 1999 Saturday falls. What day of the week was it on 10th May, 2000?

A. Wednesday
B. Saturday

C.
D
E

Thursday

. Monday

None of these

Answer: A

Explanation: 8th May, 1999 =>Saturday

2000=> leap year 2 odd day
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8th May, 1999 => Monday
10th May, 1999=> Wednesday
(Directions 151 — 155): Study the following information and answer the questions given below

151. Statement: In 2016 last year the Government of India put a ban on all 500 and 1000 Rs notes in an
effort to curtail the shadow economy and crack down on the use of illegal and fake currency that funds
illegal activities and terrorism.

Arguments:
I. This was the best way to tackle corruption and to stop the use of counterfeit cash.
Il. Demonetization looks like a bad idea, badly executed on the basis of some half-baked notions.

A. Only | is strong

B. Onlyllis strong

C. Both are equally valid

D. None are valid

E. Together they can be used to make a strong argument

Answer: D

Explanation: When we look at the statement we see that it is a fact and we should look up for a Strong
argument. But here both of the arguments are open to interpretation and is useless information.

152. Statement: Should women be allowed into combat arms if they meet all standards?
Arguments:

I. Yes, women have already proven competence in combat — they have already been exposed to combat
in Iraq and Afghanistan, so it makes no sense to officially continue excluding them.

Il. No, the average female is physically weaker than the average male.

A. Only |l is strong

B. Only llis strong

C. Both are equally valid

D. None are valid

E. Together they can be used to make a strong argument

Answer. A

Explanation: Argument | is strong as it gives a proper reason as to why women should be included in
combat arms — because they have already worked in this area in Iraqg and other places and so it makes
sense to include them officially. Argument Il is weak because it talks about a general scenario in
comparing an average female with an average male. However, what if a woman with exceptional
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athletic ability and toughness can meet and even exceed the standards currently set for male troops, on
what basis should she be denied entry into combat arms?

153. Statement: Anti-Romeo squad is unlawful.

Arguments:

l. Yes, couple should be free from moral policing

Il. No, this is precautionary measure to ensure that public places should be free from eve- teasing.

A. Only |l is strong

B. Only Ilis strong

C. Both are equally valid

D. None are valid

E. Together they can be used to make a strong argument

Answer: B

Explanation: Anti- Romeo squad is the special wing of state police which ensures that a girl/ ladies
should go to any place without fear of eve- teasing. It has nothing to do with moral policing.

154. Statement: Should the practice of transfer of sub- inspectors from police stations of one city to
those of another be stopped?

Arguments:
I. No. Transfer of officers is a routine administrative matter and we must continue it.

Il. Yes, it involves a lot of government expenditure and causes inconvenience to many in comparison to
the benefits it yields.

A. Only |l is strong

B. Only llis strong

C. Both are equally valid

D. None are valid

E. Together they can be used to make a strong argument

Answer: D

Explanation: Argument | calls for continuing an official custom just for the sake of it. It does not give any
other concrete reason for continuing the routine transfer of sub- inspectors or. It is not necessary that it
is right to practice a ‘routine administrative matter’. Argument Il on the other hand, talks about
transfers leading to a lot of government expenditure and causing inconvenience to many as compared
to the benefits it yields. Now a government should continue or discontinue a practise on the basis of the
output yielded. Certainly, if continuing a practice yields better outcome than discontinuing it, the
practice should be continued. The concern, thus, should not be the expenditure, procedure or
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convenience of the people involved in the process. Hence, neither of the statements is strong enough to
support the given statement.

155. Statement:

Should India install more nuclear reactors for electricity generation?
Arguments:

I: Yes, the government can earn more revenue from them.

II: No, this will increase the costs of the government.

A. Only |l is strong

B. Only Ilis strong

C. Both are equally valid

D. None are valid

E. Together they can be used to make a strong argument

Answer: D

Explanation: Both the arguments | and Il are not forceful as revenue and money cannot be the sole
factor that would be considered in @ major decision concerning nuclear reactors. There are going to be
more important and other factors as well that would need to be taken care of in taking a critical decision
as this.

Directions (156-160) In the following question, Hexagon represents the people who live in Hyderabad
and like Blue, Triangle represents the people who live in Bengaluru and like Pink, Rectangle
represents the people who live in Mumbai and like Red and Circle represents the people who live in
Chennai and like Yellow.

A
VQW

156. How many persons like blue and belong to Bengaluru?
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Answer: D.

A
B.
C.
D
E

. 24

32
36

. 30

18

Explanation: Persons like Blue and belong to Bengaluru =8 + 22 =30

157. How many persons like Blue, Yellow and Red together?

A
B.
C.
D
E

. 25

32
36

. 38

None of these

Answer: A.

Explanation: Persons like Blue, Yellow and Red together = 25 persons only

158. How many persons like only yellow?

A
B.
C.
D
E

. 23

32
45

. 29

None of these

Answer: B.

Explanation: 32 persons like only yellow.

159. How many persons belong to Mumbai?

A
B.
C.
D
E

. 123

148
164

. 156

150

Answer: D.

Explanation: 56+ 25+ 31+ 36+ 8 =156

160. How many persons like Blue and Yellow?

A.
B.

54
60
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C. 72
D. 65
E. 69

Answer: E.
Explanation: Persons like Blue and Yellow = 44 + 25 =69

161. The Union Cabinet has approved amendments to the Banking Regulation Act to empower
to have better control over urban co-operative banks and multi-state

cooperative banks recently.

A. NABARD

B. IRDAI

C. RBI

D. SEBI

E. Finance Ministry

Answer: C

Explanation: The Union Cabinet has approved amendments to the Banking Regulation Act to empower
India’s Central Bank (Reserve Bank of India) to have better control over urban co-operative banks and
multi-state cooperative banks. These amendments will apply to the urban co-operative banks and multi-
state cooperative banks.

162. Which among the following is the minimum amount that can be borrowed under the Liquidity
Adjustment Facility system of the RBI?

A. Rs1Crore

B. Rs 2 Crores

C. Rs5Crores

D. Rs 10 Crores

E. There is no minimum amount

Answer: C

Explanation: The LAF is the facility offered by the RBI through which banks can borrow money through
the repurchase agreements such as the repo and the reverse repo mechanisms. All the clients of the RBI
are eligible to utilize this quota whereas the maximum amount that can be borrowed can be any
amount. The minimum bidding amount is Rs 5 Crores under the LAF quota.

163. What is the maximum amount that can be borrowed by banks under the Marginal Standing
Facility route?

A. 1% of the Net Demand and Time Liabilities (NDTL)
B. 2% of NDTL
C. 5% of NDTL
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D. 10% of NDTL
E. None of the above

Answer: B

Explanation: The MSF was introduced by the Reserve Bank of India in 2011 in order to help banks
manage the cash flow mismatch on overnight basis. The banks can approach RBI for loan under MSF
facility in an interest rate that will be higher than the repo rate. Banks can borrow upto 2% of the total
NDTL under this route whereas the minimum amount is Rs 1 crore.

164. If a bank has to borrow funds from RBI for a long term, which among the following will be
applicable?

A. Repo Rate

B. Reverse Repo Rate

C. Bank Rate

D. Liquidity Adjustment Facility Rate
E. None of the above

Answer: C

Explanation: Bank Rate is defined as the rate of interest that is applicable to the long term loans
extended to the commercial banks by the RBI. These loans are generally provided for a period of 90 days
to 1 year. The main difference of bank rate and repo rate is that bank rate is mainly for long term loans
whereas repo rate is applicable for short term loans up to a period of 90 days.

165. Which among the following is NOT a qualitative measure of monetary policy undertaken by the
RBl in India?

A. Moral Suasion

B. Direct Action

C. Reduction in Repo and Reverse Repo Rates
D. BothAandB

E. AllA,BandC

Answer: C

Explanation: Qualitative Measures are also adopted by the RBI to control the money supply in the
economy. There are various measures for this: Margin Requirement, Rationing of Credit, Moral Suasion,
Direction Action etc. Repo Rate and Reverse Repo Rate, LAF, MSF etc are quantitative measures
adopted by RBI for this purpose.

166. The Marginal Cost of Funds-Based Lending Rate (MCLR) System came into force in India from —

A. April 01, 2017
B. April 01, 2016
C. April01, 2018
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D. April01, 2019
E. None of the above

Answer: B

Explanation: The MCLR system replaced the old base rate system of the banks with the objective to
rationalize the lending rate system in banks. The main aim was to make the rates more sensitive to the
changes in the key policy rates of the RBI. This came into effect from April 01, 2016. MCLR is the
minimum rate of interest below which a bank cannot lend money.

167. The Small Industries Development Bank of India (SIDBI) was set up in 1990 as a subsidiary of
which among the following?

A. State Bank of India

B. Reserve Bank of India

C. IDBI Bank

D. Life Insurance Corporation of India
E. None of the above

Answer: C

Explanation: SIDBI was established in 1990 by an act of Parliament in order to regulate the MSME credit
extension in the country. It was created as a wholly owned subsidiary of the IDBI Bank but later it was
recognized as an independent body. SIDBI is based in Lucknow, Uttar Pradesh.

168. What is the maximum amount of loan that can be obtained under the Pradhan Mantri Mudra

Yojana?
A. Rs5lakhs
B. Rs 10 lakhs
C. Rs 15 lakhs
D. Rs 20 lakhs
E. There is no maximum amount specified

Answer: B

Explanation: The Pradhan Mantri Mudra Yojana was launched in 2015 in order to provide hassle-free
loans to the MSME Sector of the country. There were three categories of loans extended under the
PMMY Scheme — Shishu (Upto Rs 50000), Kishore (From Rs 50001 to Rs 5 Lakhs) and Tarun (Rs 500001
to Rs 10 lakhs). These loans are only extended to borrowers from the non-farm sector.

169. The Export-Import Bank of India has its headquarters in —

Mumbai, Maharashtra
New Delhi

Kolkata, West Bengal
Bangalore, Karnataka
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E. None of the above

Answer: A

Explanation: The EXIM Bank was established in 1982 in order to promote the foreign trade of the
country. The main objective of this bank is to facilitate exports and imports from the country. It is based
in Mumbai, Maharashtra.

170. ECGC Limited was first established as Export Risks Insurance Corporation (ERIC) in the year —

A. 1958
B. 1959
C. 1960
D. 1965
E. None of the above

Answer: E

Explanation: The ECGC Limited was established as the Export Risks Insurance Corporation (ERIC) in 1957
and later it was converted to Export Credit Guarantee Corporation Limited in 1964. It was then
converted to Export Credit Guarantee Corporation of India in 1983. It is mainly engaged in providing
export credit insurance to the exporters. It is based in Mumbai, Maharashtra.

171. The Priority Sector Lending targets given by the RBI are applicable for foreign banks having
branches or more.

A. 20 branches
B. 10 branches
C. 15 branches
D. 25 branches
E. None of the above

Answer: A
Explanation: The PSL Targets are given by the Reserve Bank of India in order to extend credit facility to
the sectors which may not get adequate credit facility in the absence of any such special scheme. This

scheme is extended to all the domestic commercial banks such as the public sector banks (excluding
regional rural banks and small finance banks) and the foreign banks with 20 or more branches.

172. What is the overdraft facility available now under the Pradhan Mantri Jan Dhan Yojana?

A. Rs 10000

B. Rs 15000

C. Rs 20000

D. Rs 5000

E. None of the above

Answer: A
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Explanation: The PMJDY Scheme was launched in order to achieve financial inclusion in India in 2014.
The main objective was to ensure that every family in the country has at least one bank account. Zero
balance accounts can be opened under this scheme with any bank branch and also there is an overdraft
facility of Rs 10000 to be given to the account holder. There is also a personal accident cover of Rs 2
lakhs along with the account, under this scheme.

173. What is the maximum age limit till which one can enroll for the Pradhan Mantri Suraksha Bima
Yojana?

A. 40years
B. 50 vyears
C. 60years
D. 70vyears
E. There is no such age limit

Answer: D

Explanation: PMSBY was launched by the government to ensure that personal accident insurance cover
is provided to the citizens. The premium under this scheme is only Rs 12 on yearly basis and the cover
that can be obtained is for Rs 2 lakhs. The scheme is provided to the citizens within the age group of 18-
70 years.

174. What is the annual premium amount under the Pradhan Mantri Jeevan Jyoti Bima Yojana?

A. Rs 330
B. Rs 350
C. Rs 500
D. Rs 600
E. None of the above

Answer: A

Explanation: The PMIJJBY scheme was launched by the government to provide life insurance cover to
the citizens of the country. The sum assured is Rs 2 lakhs under this scheme whereas the annual
premium amount comes to Rs 330. The scheme is for citizens within the age group of 18-50 years in
India.

175. What is the maximum pension amount that can be opted for under the Atal Pension Yojana?

A. Rs 5000

B. Rs 1000

C. Rs 10000

D. Rs 6000

E. None of the above
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Answer: A

Explanation: Atal Pension Yojana is aimed at providing pension to the unorganized sector workers in the
country. The minimum pension amount is Rs 1000 whereas the maximum amount is Rs 5000 in this
scheme and monthly contribution will be based on the pension amount determined by the applicant.
This scheme is applicable for citizens in the age group of 18-40 years only.

176. Which among the following administers the Financial Inclusion Fund floated by the Reserve Bank
of India?

A. RBI

B. NABARD

C. Government of India
D. State Governments
E. None of the above

Answer: C

Explanation: The Financial Inclusion Fund was established by RBI in 2016 after merging the earlier FIF
and Financial Inclusion Technology Fund. The initial corpus of the fund was Rs 2000 crores and it is
maintained by NABARD. The fund is administered by the Government of India. The main objective of
this fund is to ensure financial inclusion in the country by creating awareness regarding the same.

177. Who is the Minister of Finance?

A. Amit Shah
B. Rajnath Singh

C. Piyush Goyal

D. Nirmala Sitharaman
E. None of these

Answer: D

Explanation: Nirmala Sitharaman is an Indian politician serving as the current Minister of Finance and
Corporate Affairs of India. She is a member of the Rajya Sabha, upper house of the Indian Parliament,
since 2014.

178. Where is Sabarmati Ashram located?

A. Gujarat

B. Bihar

C. Madhya Pradesh
D. Maharashtra

E. None of these

Answer: A
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Explanation: Sabarmati Ashram is located in the Sabarmati suburb of Ahmedabad, Gujarat, adjoining the
Ashram Road, on the banks of the River Sabarmati, 4.0 miles from the town hall. This was one of the
many residences of Mahatma Gandhi who lived at Sabarmati and Sevagram when he was not travelling
across India or in prison.

179. When was ISNV Tarini inducted into the Indian Navy?

A. 2006
B. 2008
C. 2010
D. 2017
E. None of these

Answer: D

Explanation: ISNV Tarini was inducted into the Indian Navy on 18 February 2017. It created history in
2017-18 when six Indian Naval women officers sailed the vessel on maiden circumnavigation voyage
titled Navika Sagar Parikrama. Tarini also participated in mixed crew Kochi to Seychelles sail training
expedition during the 10th-anniversary celebration of the IONS.

180. Mumbai International Airport Ltd (MIAL) is set to launch , an exclusive terminal for
processing and storage of agro and pharma products.

A. Export Cold Zone

B. Freeze Export Technology

C. Modernized Export Zone

D. Enhanced Cold Export Technology
E. None of these

Answer: A

Explanation: Mumbai International Airport Ltd (MIAL) is set to launch "Export Cold Zone", an exclusive
terminal for processing and storage of agro and pharma products.

181. The women researchers who are awarded the "SERB Women Excellence Award" will be

supported with a research grant of per annum for a period of 3 years.
A. Rs.2lakh
B. Rs.3lakh
C. Rs.5lakh
D. Rs.7 lakh
E. None of these

Answer: C

Explanation: The women researchers who are awarded the "SERB Women Excellence Award" will be
supported with a research grant of Rs.5 lakh per annum for a period of 3 years.

@ | f @lin|
ALESSONSE/’ www.splessons.com




RBI ASSISTANT MAINS MODEL PAPER 2 EBOOK

182. Taliban is a Islamic fundamentalist political movement and military organization in
Afghanistan currently waging war within that country.

A. Sunni

B. Khawarij

C. Shiah

D. Sufi

E. None of these

Answer: A

Explanation: Taliban is a Sunni Islamic fundamentalist political movement and military organization in
Afghanistan currently waging war within that country.

183. Who received the SERB Women Excellence Award 2020?

A. Dr. Niti Kumar

B. Dr. Rita Banerjee
C. Dr. Anusha Devi
D. Dr. Keerthi Verma
E. None of these

Answer: A

Explanation: Dr. Niti Kumar has received the SERB Women Excellence Award 2020. The award will be
conferred by the President of India Ram Nath Kovind during National Science Day Celebrations on 28
February 2020 in Vigyan Bhawan, New Delhi. The award is presented to women scientists below 40
years of age who have received recognition from national academies.

184. When is the first anniversary of the iconic National War Memorial (NWM) observed?

A. 18 February
B. 23 February
C. 25 February
D. 10 February
E. 15 February

Answer: C

Explanation: The first anniversary of the iconic National War Memorial (NWM) will be observed on 25
February. Prime Minister Narendra Modi dedicated the monument to the nation on 25 February 2019.
The memorial is a tribute to the fallen heroes in the line of duty during various wars and internal
security challenges since Independence.

185. Which country agreed to sign a peace deal with the Taliban if the truce holds?
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A. Israel

B. US

C. Russia

D. India

E. None of these

Answer: B

Explanation: The United States announced that it is ready to sign a peace deal with the Taliban in
Afghanistan if a temporary truce holds in America's longest war. The announcement was made by US
President Donald Trump.

186. Indian Naval Sailing Vessels (INSV) began its sail for the Bay of Bengal Offshore Sailing
Expedition on 22 February 2020.

A. Mhadei

B. Tarini

C. Brahmaputra
D. A&B

E. None of these

Answer: D

Explanation: Indian Naval Sailing Vessels (INSV) Mhadei and Tarini began its sail for the Bay of Bengal
Offshore Sailing Expedition on 22 February 2020. It started the journey from the Indian Naval Ocean
Sailing Node at Goa. The expedition was flagged off by Rear Admiral SJ Singh, Commandant Naval War
College, and Goa.

187. When was the Central Board of Excise and Custom (CBEC) established?
A.1855

B.1882

C.1885

D.1906

Answer: A

Explanation: The Central Board of Excise and Custom (CBEC) is one of the oldest government agencies in
India. It was established in 1855 as the Customs and General Excise department. CBEC was renamed as
the Central Board of Indirect Taxes and Customs (CBIC).

188. When was the National War Memorial dedicated?

A. 2015
B. 2017
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C. 2019
D. 2020
E. 2018

Answer: C

Explanation: Prime Minister Narendra Modi dedicated the monument to the nation on 25 February
2019. The memorial is a tribute to the fallen heroes in the line of duty during various wars and internal
security challenges since Independence.

189. Which State reduced government employee's retirement age from 60 years to 58 years?

A. Gujarat
B. Punjab

C. Rajasthan

D. Tamil Nadu

E. None of these

Answer: B

Explanation: Punjab State government announced major changes in the 2020-21 budget. The budget
announcement was made by Punjab Finance Minister Manpreet Singh Badal. He presented a
Rs.1, 54,805 crore budget in the state Assembly. It has reduced the government employees' retirement
age from 60 to 58.

190. When is the Zero Discrimination Day observed?

A. 28 February
B. 1March
C. 15 March
D. 2 April

E. 3lJanuary

Answer: B

Explanation: Zero Discrimination Day is observed on 1 March. The day promotes diversity and
recognizes that everyone counts. The symbol for Zero Discrimination Day is the butterfly. It is used by
people to share their stories and photos as a way to end discrimination and work towards positive
transformation.

191. Who instituted Dr. Syama Prasad Mukherjee award?

A. Invest India

B. Bill & Melinda Gates foundation
C. India Foundation

D. RBI

E. None of these
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Answer: C

Explanation: Dr. Syama Prasad Mukherjee award was instituted by India Foundation. The award carries
a citation, a specially designed trophy and a cheque worth Rs.1 lakh.

192. When was the International Civil Defense Organization (ICDO) came into force as an
intergovernmental organization?

A. 1972
B. 1978
C. 1985
D. 1990
E. 1995

Answer: A

Explanation: World Civil Defense Day was instituted by the International Civil Defense Organization
(ICDO) General Assembly in 1990. It commemorates the day when the ICDO Constitution came into
force as an intergovernmental organization in 1972.

193. Syama Prasad Mukherjee was born in

1901
1918
1913
1923
1930

mooOwpP

Answer: A

Explanation: Syama Prasad Mukherjee was born on 6 July 1901. He served as the youngest ever Vice-
Chancellor of Calcutta University. He is the first Minister of Industry and Supply in independent India.

194. The India Ideas Conclave held on 28 February.

A. 4t
B. 6th
C. 8th
D. 10th
E. 12th

Answer: B
Explanation: The 6th India Ideas Conclave was held in Gujarat on 28 February
195. When is the World Defence Day celebrated?

A. 29 February
B. 1March
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C. 10 March
D. 19 March
E. 17 January

Answer: B

Explanation: World Defence Day is celebrated on 1 March 2020. The day is observed to raise awareness
of public protection from natural and techno genic disasters and rescue service work.

196. Who was conferred the Dr. Syama Prasad Mukherjee award 2020 for Politics?

A. Chief Minister of Arunachal Pradesh Pema Khanduwrong Image
B. Chief Minister of Assam Sarbananda Sonowal

C. Chief Minister of Manipur Mairembam Koireng Singh

D. Chief Minister of Mizoram Zoramthanga

E. None of these

Answer: B

Explanation: Assam Chief Minister Sarbananda Sonowal was conferred the Dr. Syama Prasad Mukherjee
award 2020 for Politics on 28 February. The award was conferred by the External Affairs Minister S
Jaishankar and Speaker of People's Majlis of Maldives Mohamed Nasheed at the 6th India Ideas
Conclave in Gujarat.

197. Which galaxy held the record of holding a supermassive black hole from which the amount of
energy required to create a large cavity in the hot gas?

A. MS0735+74
B. RSEMAI12A
C. Quasar

D. Nebula

E. None of these

Answer: A

Explanation: Ophiuchus galaxy cluster is a large galaxy that contains a supermassive black hole. The
source of the gigantic eruption to jets has carved out a large cavity in the hot gas. The amount of energy
required to create the cavity in Ophiuchus far exceeded the previous record holder, a cluster known by
the designation MS 0735+74. The cluster contains thousands of individual galaxies intermingled with hot
gas (plasma) and dark matter.

198. Bank of America Corporation (BofA) economists stated that the world economy is heading for its
worst performance since the financial crisis.

A. 2009
B. 2010
C. 2012

(7  { @lin
ALESSONSE/‘ www.splessons.com




RBI ASSISTANT MAINS MODEL PAPER 2 EBOOK

D. 2015
E. 2013

Answer: A

Explanation: Bank of America Corporation (BofA) economists stated that the world economy is heading
for its worst performance since the 2009 financial crisis.

199. Who is the Governor of Maharashtra?

A. Kalraj Mishra

B. Arif Mohammad Khan
C. Uddhav Thackeray

D. Bhagat Singh Koshyari
E. None of these

Answer: D

Explanation: Bhagat Singh Koshyari is a member of the Bharatiya Janata Party from Uttarakhand serving
as the Governor of Maharashtra. An RSS veteran, Koshyari served as National Vice President of BJP and
party's 1st State president for Uttarakhand.

200. Who won the Raja Ravi Varma State Award for the year 2020?

A. Prof. J.S. Khanderao

B. Vasudeva Kamath

C. Ash tosh Gowariker

D. Nitin Chandra Kant Desai
E. None of these

Answer: B

Explanation: The Raja Ravi Varma State Award was conferred to Vasudeva Kamath for the year 2020 at a
programme organized in the institute premises located on Narasaraja Road in Chamundipuram, Mysore,
and Karnataka.
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